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7 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 100|000 ~ 476 59.31 | #FnUst | 0oo ~ ooo| 177 8.94 Zh sk 100500 ~ 500 59.31 | #nAS | 500 ~ 500|177 8.94
2 100kN/mMZ#8% % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh st 1.00 | 000 ~ 477 59.50 | Ths | 0oo ~ 000 1.71 8.66 Zh s 1.00 | 500 ~ 500 59.50 | ThS | 500 ~ 500 1.71 8.66
3 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 100|000 ~ 545 67.95 | #nLs | ooo ~ 545 200 10.11 Thilst 100|500 ~ 680 67.95 | Fhst | 500 ~ 680 200 10.11
4 100kN/MZ#B% % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 629 79.01 | #hdst | 000 ~ 629 1.87 9.48 ZhLst 100|500 ~ 760 79.01 | #hs | 500 ~ 760 1.87 9.48
5 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/M%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 1.00 | 000 ~ 553 69.01 | #npis | ooo ~ 553) 1.83 9.27 Thilst 100|500 ~ 620 69.01 | Fhust | 500 ~ 620 1.83 9.27
P 100kN/MZ#B% % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 561 70.11 | #hst | 000 ~ 561 1.95 9.86 ZhLst 100|500 ~ 680 70.11 | This | 500 ~ 680 1.95 9.86
7 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 100|000 ~ 591 74.04 | Fhst | 000 ~ 591 1.89 9.64 Zh sk 100500 ~ 7.00 74.04 | Ths | 500 ~ 700 1.89 9.54
g 100kN/MZ#B% % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 438 54.71 | #Fhdst | 000 ~ 438|201 10.14 ZhLst 100|500 ~ 520 54.71 | FhS | 500 ~ 520 201 10.14
9 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 100|000 ~ 505 62.98 | #Fhst | 000 ~ 000 177 895 Zh s 100|500 ~ 540 62.98 | #hus | 500 ~ 540|177 8.95
10 100kN/MZ#B % % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 571 71.31 | #Fhist | 000 ~ 571 1.80 9.09 ZhLst 100|500 ~ 640 71.31 | #his | 500 ~ 640 1.80 9.09
11 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 1.00 | 000 ~ 467 5819 | #ns | 0oo ~ o000l 162 818 zh sk 100500 ~ 500 5819 | #nst | 500 ~ 500 1.62 818
12 100kN/MZ#B% % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 438 54.64 | Fhs | 000 ~ 438|201 10.15 ZhLst 100|500 ~ 520 54.64 | Ths | 500 ~ 520 201 10.15
13 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 477 59.40 | #nLst | 0.oo ~ o000 169 856 Zh s 100|500 ~ 500 59.40 | FhLs | 500 ~ 500 169 8.56
14 100kN/MZ#B % % - -~ = —3mEEZZ — ~ — — — [ 100kN/M%E#B %% — -~ = —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 536 66.92 | Thst | 000 ~ 536 1.85 9.35 ZhLst 100|500 ~ 600 66.92 | Ths | 500 ~ 6.00| 1.85 9.35
15 100kN/M%#B% % -1 -~ - —|3mziEzE — ~ - — — [ 100kN/M%#B 2 % — -~ — —[3mZ#ERB — ~ — — —
Zh st 100|000 ~ 559 69.78 | Ths | ooo ~ ooo| 1.69 8.63 ZTh s 100|500 ~ 620 69.78 | =nUSN | 500 ~ 620 | 169 8.63
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Zzh st 1.00 | 000 ~ 559 69.77 | #hust | 000 ~ ooo| 1.69 8563 Zh sk 100|500 ~ 620 69.77 | Thst | 500 ~ 620 1.69 8563
17 100kN/mMZ#8% % — -~ - — |3m%EEZE — ~ — — — | 100kN/m#%#8 x5 - -~ — — |3m%EHEZ D -~ — - -
Zh s 100|000 ~ 536 66.91 | #hst | 000 ~ 536)| 1.85 9.36 ZhLst 100|500 ~ 600 66.91 | Thus | 500 ~ 6.00| 1.85 9.36
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Zzh st 100|000 ~ 536 66.92 | =hust | 000 ~ 536\ 1.85 9.35 Zh sk 100500 ~ 600 66.92 | Ths | 500 ~ 6.00)| 1.85 9.35
19 100kN/MZ#B% % — -~ - — |3m%EEZB — ~ — — — | 100kN/m#%#BZ % - -~ — — |3m%EHEZ D -~ — - -
Zh s 100|000 ~ 469 58.45 | #Fhust | 000 ~ 169| 1.83 9.25 ZhLst 100|500 ~ 500 5845 | TS | 500 ~ 500 1.83 9.25
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/mM%Z#8 % % ~ ImEEZD ~
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Zzh st ~ Zh sk ~ Zh sk ~ Zh sk ~
100kN/MZ#B% % ~ 3mExEZD ~ 100kN/m#E#BZ % ~ 3mExEZD ~
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